WHARICKET 2 BBRGTHRESTHEESZE (STFIALIAEY» LRED) FAILER
fERR EILESR
ID X NEA B EIGFT (A%8) (BEFR)
1 0198 X INRILTFHOE VAR | M1 L 0 AV
2 [0IMEIX | EEREAR | b1 VIESE 14,080 | a4 - a—5
3(0IMEIR  |FIENAE |G RN 30,140 | 2% - 1—3
4 [01MAEIRE  (FIENAE  |emmmm T 30,250 | a4 - a—3
5 [02/NEFRX |[IRETHT A BERET 53,900 | Ok - a—35
6 |02/NEALX B AE @ bpi 17,611 | EfEHE T
7T [02/hNEAER | RFHT AR R 103,528 | RSV a—5
8 [02/NEILX (FRETHE EZHhodt, EEEBOF 14,080 | ax - a1—3
9 [02/NEJLX |HBAEREARE | BRGHEI N1 LV 2,200 | ak-a—3
10 |02/hEdbX |HBAEREARE  |BEESGEI N 1 L 30,250 | aH - 3—7
11|03/NAER | SEMHMHAR  |rreaosmEm 14,080 | Ak - a—5
12103/NEmERX |PHEEZEAR (M1 L 60,500 | aH - 3—5
13|03/ NEFEX |EREEAE  [FEAl N1 L 60,500 [ Ak - 3—=5
14|03/NAFER SR E |(EEEE 14,080 | Ak - a—5
15|03/NEFERX |EEEHHEAE| N LAHE 14,080 | a& - a2—=5
16 |03/ NEFRX |[BEHENE FERIA Y OfE 14,080 | aH - a2—=5
17|03/ NEFEX |ZHAE N Ui 30,250 | aH - 3—7
18 |04FE AKX EAEFRERARE| M LEE 60,500 | aH - a—3
19|04&5RK |BEAR LS 30,250 [ aA - 3—=5
20 [04ERKE |ZEAAR N LR 30,250 [ aA - 3—=5
21| 05\IEER X |BFEA R BIRHRES A 56,100 | MY HE
22|05/ \IERX [EFEAE iR ES B 30,250 | aH - a—3
23 [06/\IEFEX [ RHLAE N Ui 30,800 | AuM 7ok
24 [06/\IEFEX (REAR N Ui 14,080 | 2% - a2—=5
25|06 /\IEPEX. | AIAE b b1 L 2,750 | aH-a3—=5
26 (0TFMEX  [FRRAE LB ES AR 45,403 | RV -3
2TI0TFMR | EMOHZRAE  |EMET 44,000 | A7 HE
20TFHX  |[HEAE EEIR N L 21,375 | EfEHAE T
29|107TFX  |[RELAE HEEE 1 LA 17,611 | EfEmAs T3
30 |02/NEFLR  |HXDWEAE | M1 Vi 40,019 | EEmHAE T3
X EHEZ, SF5E3FA3IHETICRETARDEH DY BEREA
HEIRTH DR EBEBEHFAREE1T> TS L,

X 2 2&ESIFENER ﬁbiff;&%i@—B EAALIBERI2RL & 75 > 72,
X 30FHIDYRARN
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